Al = 0l & AFE B Al A

2023495 =& 1 3 B3N JiE2s
ts2s
IIE2E A (LBIBSHE/ LBk
tEes 2l 2 %9)
SA - BB C9(B) - HRAY - BL=2 Il H o HRE2
= 689,056 686,518 2,538
£25 A (LB SHE/UUIHT) 527,470 528,588 A1,118
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301 EtEEZ 162,430 163, 150 AT20
11 EALHIXIRAZ 6,480 7,200 AT20
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A 6,480 7,200 AT20
tg2s FUNXNEH 29 7,638 7,920 N282
201 et 3| 7,638 7,920 N282
01 AtR2elt] 2,538 2,820 N282
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201 et 3| 40,890 41,522 AB32
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23 2,808,000 2,808 3,120 A312
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Ol 4,860 5,060 A200
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202 0441 38,960 43,290 24,330
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O JIZ2HHREXHI(0
5,940 6,600 2660
04 EA2IHRFEI| 2,648 3,000 A352
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38 2,648,000 2,648 3,000 A352
405 KHAEE S| 13,130 3,500 9,630
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O A (olarm2)
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